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ECO 4B 08—COMPUTER APPLICATION FOR ECONOMIC ANALYSIS
Maximuri  #0 Markes

Ansioers may be written elther in Englivh or (n Malayalam

Part A

Answer all fuelve questions

Each question carries Y mark.
1. The number uf bits that a computer can process at a Ume in parallol is called the

(b} Word length.
(d} Accuracy.

() Speed.
(gl Diligence.
Which of the following is not a word processor ?

-

(a) WordStar. (b} MS Word.
{c) AmiPro. (dy Lotus 1-2-3.

3. A page in the World Wide Wel ia crented by using the Innguage called :
fa) URL. ib) HTRL.
(e} HTML. (d) HTTL.

4. ‘Which of the following loses its contents when the compulter is turned off ?
(a) RAM. by ROM.
(¢} PROM. (d) Al of the above.

5. Registers are part of !
(a) Control unit and memory.

(¢) Addresses and control unit.
g In MS Word, portrait and landscape are :
(a) Page orientation.

(b) Addresses nnd ALL.
(d) Control unit and ALU.

{b) Page background.
(d) All of the above.

{¢) Page layout,

i An operating system is an example of which type of software :
(a) Utility. (b) System.
(c) Application. (@) All of the above.
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8. Intornet is the brad pchild of
n) Winton Cerl,

(e} Bloise Pasncal. .
Which of the following is not a somrch ongloe “

(a} Alta Vista, (h) Lycos. T
{¢)  Yahoo () Opern.
10, WAN stands for : L
(a) Wire And Notwark, () Widely Acgussible Newwork:
fe) Wire Accessible Netwark. (d) Wide Aren Network:
11. The refresh rato of a minotor is measured in: it
in}y Pixels. ﬂﬂ ﬂ“’.ﬂﬂﬂu e
() Bits: (d) None of the abave.
12, An Excel file is called :
(a) Work sheet.
(c) Work book..
(12 = Vo=
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